8.1 HW Pg. 264-265 #1-10

For Exercises 1-6, use the following information.

A talented teenage baker has agreed to supply a local cafe with pies for
$15 each. She will need $525 in startup costs for her pie business. She
also knows that it will cost her $8 to make each pie.

1. If xis the number of pies she sells to the cafe, write a function that
models her total dollar revenue R. K — ‘5&

2. Write a function that models her total cost C. c =gx + 5325

3. Graph your revenue and total cost equations on the same set of
axes. Find the coordinates of the intersection of the revenue and
total cost functions.

4. Confirm your answer to Exercise 3 by using a table.
5. Explain the meaning of your answer to Exercises 3 and 4.

6. TFor what numbers of pies will the baker make a profit?

5) The tee must sell 15 pies
+ make 81,125 Tt will also

cost her a total of &1,126
+7 wmake 15 P'\es.

L) The +eenaqe baker will ake
x profit nlgshe. Sells more

than 75 pies.

7. Consider this system of equations.

Yi=15%

(15, 1125)

)

o x=2y—4

o bx +15 =3y

L [}
i 1 L
J0 10ED i0BE
71 1065 108z
TE 1080 iioi
73 1i03c 1109
3 1110 1112
et dize D
B TIA0 [ 1133
——T
Ul ]
A
L]
s |a
SH2INY))

a. Use grid paper to graph both equations on the same set of axes.

Then estimate the solution to the system.

b. Explain why this graphical method may not always be the best

F N

way to solve a system of two equations.

- (] :5
.ZU-xH Y=2x+5

i

:‘2'7)(1'2

(-2.%,.v) Theaccure o{:‘H’\c/ sofution dLFends

8. Use the [TABLE] feature of a graphing calculator to solve this
system of equations.

)

ey=7x+1
ey=2x+9

(Hint: Use an increment of 0.1.)
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k4
onthe accura oF the ampln. This gofution hod 1 be tshmated Since it was ot in+fjas.

A Y4 Wz

1 : 11
11 B.7 11.2
1.z 8.4 1.4
i3 104 |11
1.4 i0.8 11.8
A |2
1z2.2 12.2

®=1.6

Solution: (1.6, 12.2)



9. Graph this system of equations.

Since these lires have

*2y —3x=4
* 9x + 30 = 6y the Same slo “_ar;:
Explain how you know this system of equations has no solution. d"H‘Uw’ﬁ- ‘a "n*’ e‘ﬁ
2y =3xt4 5:2)( Fis are || 1o each other.
3 = %x +2 # As sUuth, They will never

CHrDES | MEaning There

10. Graph this system of equations. .
- s 1 1 no SD’(MhOn-

oey=—06x+2
e 3x+5y=10

Explain how you know this system of equations has an unlimited
number of solutions.

U: -_53. x+2 63: -3x+10
Thig SUS-"em ,,{l c%vm,‘\"ﬁor\s has an

Unlimited # of solutions, because
Hiey are the Same Uine . This meang
H’\C” mwrll crogs at eVCWj Single Faini-ll
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